
1. c) t{Smws_

2. b) s]cn-ßfw

3. a) hm¿Øm-hn-\n-abw

4. b) 1964

5. c) \yq-t{Sm-Wp-I-fpsS FÆØn-ep-≠m-Ip∂ hy-Xymkw

6. a) Ne\ PU-Øzw

7. d) dtbm¨

8. c) C\m-a¬

9. b) Im¿Ø-ym-b\n AΩ

10. d) cmP-ti-Jc h¿Ω

11. c) 8

12. a) tPymXn dmhp ^pse

13. c) CSp°n

14. b) Im¿´q-WnÃv i¶¿

15. a) sk{Io-´n≥

16. b) HUoj

17. a) N{µmWnap¿Ωp

18. d) {]nb-¶m-tNm{]

19. d) {ioe¶

20. c) Icw-_o¿ knMv

21. a) ]qg-\mSv

22. a) hnZnj

23. a) Xmdmhv

24. c) hr°

25. a) Akw

26. d) tImwtKm

27. b) NntØm¿

28. b) ]obq-j-{KŸn

29. b) 1929

30. a) kzmXn Xncp-\mƒ

31. d) sshIpWvT kzman

32. b) 1926

33. a) tdmk-Ω-]p-∂qkv

34. d) AK-kvX-y-IqSw

35. d) Iqdp-am‰ \ntcm-[\ \nbaw

36. c) 1962

37. c) 2012 \hw-_¿ 1

38. b) im¿MvK-tZ--h≥

39. a) Akw ˛ Acp-Wm-N¬

40. a) _\m-dkv

41. d) A´mcn

42. a) 2000

43. b) kXn \n¿Ø-em-°¬

44. c) ip≤-Pe a’yw

45. b) kn°-¥¿temZn

46. b) Im\-dm-_m¶v

47. d) Km\n-aoUv

48. d) {In°‰v

49. a) sIm¬°Ø

50. b) s^{_p-hcn

51. b) ]pfn + Ipcp

Answer key
General Exam - 5

52. a) Fw.-B¿. \mb¿

53. b) ]c-am¿∞w shfn-s∏-SpI

54. c) `mKn-t\-b≥

55. d) XXv]p-cp-j≥

56. b) Fw.‰n hmkp-tZ-h≥ \mb¿

57. c) _me≥ Ifn-°p∂p

58. b) BK-a-k‘n

59. a) I´-°mbw sNdn-bm≥ am∏nf

60. d) F≥.-Fkv am[-h≥

61. d) A unicorn

62. a) once in a blue moon

63. d) phobia

64. d) adjective

65. a) take (had better + v
1
 )

66. a) wouldn’t be disappointed

67. c) fleet

68. b) to

69. a)The teacher asked him where he had gone the
previous day

70. c) did we

71.  b) stubborn

72. c) blunt

73. c) get across

74.  b) stationery

75. b) envy

76. b)  lieutenant

77. c)  A fair colour

78. c) am I known to her ( Simple present - object + is/
am/ are + v

3
 + by + sub

79. a)  Biggest ( the + adjective / adverb + est)

80. c) opening ( would youy mind +ing)

81. d) 10%

82. d) 18 km/hr

83. c) 23

84. c) √8

85. d) 0

86. a) 90

87. b) 25%

88. a) 22

89. c) 420

90. a)  Rmb¿

91. C)  5√6

92. b) 1500

93. c) 3548

94. d) FLAG

95. b) A—\mWv

96. b) 5/2

97. c. 140

98. c)8:12:15

99. c)  Ncw

100. b) 28



82. d) 18 km/hr

                 1 sec ¬ 5m

                       5m/s = 5 x 18/5 = 18 km/hr

83. c) 23

hcn-bn-ep≈ BsI Bfp-I-fpsS
FÆw = (6+18)˛1 = 23

84. c) √√√√√8

       2
1/2

 x 4
1/8

x16
1/8

x64
1/24

   = 2
1/2

 x 2
1/2

x2
1/4

x2
1/4

                                          =  2 x 2
2/4

= 2 √2 = √8

85. d) 0

        x s‚ hne 1,2,3 GXp-amImw
          If x = 1x2x3 x ( x-1) (x-2) x-3) (x-4) = 0

86. a) 90

FÆw =
 henb L\-cq-]-Øns‚ hym-]-vXw

          sNdnb L\cq]-Øns‚ hym]vXw
         =   6x5x3

 =
 
90

                   1x1x1

87. b) 25%

     em`w % =    hy-X-ymkw
               hn‰-hn-e-bpsS FÆw
              = 5/20 x 100 = 25%

92. b) 1500

         1L\ ao‰¿ = 1000 en‰¿
     1.5 L\-ao-‰¿ = 1.5  x1000 = 1500

93.c) 3548

       4+5 = (4-1)x5 (5+1) 4 = 3x5, 6x4 = 1524

       5+6 = (5-1)x6 (6+1) 5  = 4x6, 7x5 = 2435

       6+7 = (6-1)x7 (7+1) 6  = 5x7 8x6   = 3548

94. d) FLAG

          CBE CXnse  letters -\v ap∂n-ep≈  letters

]cn-K-Wn-°pI
     F L A G

             G M B H 
________

 FLAG

95. b) A—\mWvA—\mWvA—\mWvA—\mWvA—\mWv
         tamWn° + `¿Ømhv
                    aI≥
           cmlp¬

81. d) 10%

           XpI  =  p  1 + r    
2

                                     100

                    9680  =  8000 
1+

  r 
    2

                                         100

                 1+r    
2

    
=

 9680    
=  

484

                   100          8000    400

                         
=

22  
2

                              20

              100 + r 
  2

 
=

  22 
 2

                  100           20

                  
 100+r  =

 22x100

                                 20            
r = 10%

 (    (
 (  (

 (  (
 (  (

 (  (  ( (

88. a)22

89. c) 420

        1 to 41 hsc 20 Cc-´-kw-Jy
            XpI =  n(n+1)

         =  20 x 21       = 420

Maths Explanation

90. a)  Rmb¿Rmb¿Rmb¿Rmb¿Rmb¿

2011 G{]n¬ 1 sh≈n

2012 G{]n¬ 1 Rmb¿ (2012 A[n-h¿jw)

2012 Pqsse 1 Rmb¿ (G-{]n¬ amkhpw
Pqsse amkhpw Htc Ie-≠¿ D]-tbm-Kn-°p-∂p.)

91. C)  55555√66666

      3√11 = 9 x 11 = 99

          2√8 = 4x 8   = 32

          5√6 = 25x6  = 150

          4√3 = 16x3  = 48

 99. c)  NcwNcwNcwNcwNcw

100. b) 28

           4,      7,     12,      19,    28

              +3     +5      +7     +9

( ( ( (

96. b) 5/2

`n∂kwJyIfpsS LCM = 
Awi-ß-fpsS LCM

                            tOZ-ß-fpsS HCF

                                     
= 

    LCM (1,1,5)

                                           HCF (6,2,8)

       =  5/2

97. c. 140

  BZy 2hr bm{X sNbvX Zqcw = 30 x 2 = 60km

  ASpØ 2hr bm{X sNbvX Zqcw = 40 x 2 = 80 km

            BsI k©-cn® Zqcw = 60 +80 =140 km

98.c) 8:12:15

          A : B      =   2 : 3

          B : C     =   4 : 5

         A : B : C  =  8: 12: 15


